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1.  A.  Explain the term “quantity discrimination” and give an example.

Quantity discrimination occurs when a price searching seller lowers the price of an additional unit as a buyer increases the amount purchased.  The seller thereby charges prices closer to the buyer’s (declining) marginal values.  Example – ten cents each or three for a quarter; small box of 8 ounces of soap for 80 cents, large box of 16 ounces for $1.20; … 

B-D True, false, explain.

B.  Since labor is the ultimate source of all production, profits to capitalists take from labor what is rightly labor’s. 

False - The output from labor depends upon how the labor is organized and what capital equipment it has to work with.  Capitalists organize labor and guarantee payment thereby increasing the available output.  Labor is therefore not the “ultimate source of all production.”  The capitalists must also be rewarded for their efforts or these efforts will not be forthcoming and labor will earn less.

C.  The loud noise from an exuberant crowd at a Mariners game represents an inefficient economic externality to a beer seller who does not like baseball.

False - the beer seller took the job with the knowledge that there would be loud noise.  He or she willing traded off the loud noise for the wage and other amenities given their other opportunities.  Just as the beer seller would prefer to get paid for paying cards rather than selling, they would prefer to get paid with no noise.  Both the having to work and the noise are manifestations of scarcity rather than economic externalities.

D.  Successful collusion is more likely for a sealed bid auction (submit your bid in an envelope, highest bid wins) than for an oral auction (keep calling out higher bids until no one will beat the highest current bid).

False - in an oral auction cooperating sellers learn of others’ prices (bids) before any sale is made.  Therefore, if one of the potential buyers deviates from an agreement, others will learn that the cooperation is off and immediately revert to the competing situation.  This means that there is nothing to gain from breaking the cooperation and, hence, little reason to break the agreement.  In contrast, in a sealed bid auction, the cooperating buyers learn about someone breaking the agreement only after that the sale has been made.  Hence there is significant incentive to take advantage of others’ agreed low bids by bidding a little higher than agreed.
2.  On a certain section of freeway, 3 cars can travel without impeding each other’s speed.  They all travel to and from work, and when the freeway is not congested, the trip takes 20 minutes.  Travel on the side streets takes 40 minutes.  Each succeeding car beyond 3 slows everyone by an additional 3 minutes.  All commuters value their time at $6 per hour.

A.  How many cars will use the freeway if access is unrestricted.  Explain why this is an inefficient use of the road.

Commuters will continue to utilize the freeway rather than the side streets as long as the freeway takes less time.  Hence, we expect 9 (or 10) users, with a commute time of 38 (20 + 6 *3) (or 41) minutes.

This is inefficient since there is an action that can make everybody better off.  The sixth user will face a freeway commute of 29 minutes, saving 11 minutes valued at $1.10 as compared to the side streets.  However, the 6 users increase the commuting time for the prior 5 users by three minutes each or 15 minutes total, with a costs to these users of $1.50.  We could tax each of the 5 users 24¢, paying the sixth user $1.20 to stay off the freeway.  The 6th benefits by 10¢, each of the 5 uses by 6¢.  

B.  Explain how a system of tolls could lead to the efficient use of the road.

The efficient use of the freeway is to have 5 users (we saw the inefficiency of the 6th above; the 5 user saves 14 minutes and imposes 12 minutes costs on the prior 4 users.  Hence, it is efficient to add the 5th user.)  By charging a toll of, say, $1.39, five users would use the road.

C.  Explain why a private owner would charge a toll that produced the efficient use of the road.  What is the efficient toll in this case?

The efficient use of the freeway is where the total value of the road to the users is greatest.  A private owner is able to collect for the value received by the freeway users via the toll.  The private owner would attempt to maximize his or her revenue which is equivalent to maximizing the value of the freeway to the users.

D.  How does your answer in C. change if side streets become less congested as more drivers use the freeway. 

Yes.  This adds value to adding users to the freeway above their private gain.  For example, if there were 100 users of the side streets, and removing one user reduced the commute by 3 seconds, for a total gain of 5 minutes to the side street users.  Now consider the sixth user from B above.  We must add 50¢ value of the side street users to the $1.10 value to the 6th user, for a total social value of $1.60.  This is greater than the cost to the previous 5 users and it is now efficient to add the 6th.  But the private owner of the freeway cannot collect for the faster side street commute and hence the private owner will choose a inefficiently small freeway use.   

3.  A.  Explain the term “free rider” and give an example.

Free rider - with public goods, the amount available to one consumer is not affected by the consumption of another.  Therefore, if one consumer can get another to provide the public good the first consumer can consume the good without paying; thereby “free riding” on the expenditures of the purchasing consumer.  Example - enjoying the clean,  litter-free freeway shoulders that are policed by volunteers. 

B-D True, false, explain.

B. Safeway may increase its profit by giving away coupons good on future purchases even if, as a result, the average price on future purchases falls. 

True - more elastic buyers, who otherwise might not purchase the good, may use the coupons, and thereby increase the revenue earned by Safeway.  While the average price may fall as a consequence, the profits can increase since the revenue from the inelastic, non-coupon using buyers may be unaffected and the added revenue from the coupon users exceeds the marginal cost of supplying them. 

C.  The fact that some airplanes collide is evidence that there is too little air traffic control.

False - there is a cost to implementing systems to prevent air collusions and there are benefits.  The correct amount of air traffic control is that amount where the value of saving the people and planes is just higher than the cost of additional safety.

D.   If comparable worth legislation requires employers to pay 20 percent higher wages to clerical workers the likely effects include an increase in the average value of the work of clerical workers.

True, for two reasons.  First, in response to the higher wages the employers will cut make employment releasing the least productive workers.  Second, the equilibrium prior to the legislative mandated increase in wages would occur where there is diminishing returns and declining average and marginal product.  Therefore, the cut back in employment will also increase the average value of the work as the employers “move up” the VMP curve.

4.  A.  Explain the term “diminishing returns” and give an example.

Diminishing returns - increasing the amount of inputs to a particular production process will at some point lead to smaller increments to output as compared to earlier additions of the same amount of inputs.  Example - studying extra hours for this exam will at some point result in successfully smaller additions to the expected grade per time amount spent.  

B-D True, false, explain.

B  Assumed Fact - Workers with multiple facial tattoos earn, on average, less than 70 percent of what workers without facial rings earn.  This “fact” implies that the workers with multiple facial tattoos are discriminated against.

False-uncertain - we must control for education, experience, ability, effort and training.  People with multiple facial tattoos may, on average, have lower levels of these variables that increase productivity.  In a world of costly information, the presence of multiple facial tattoos may serve as a proxy for lower levels of education, experience, ability, effort and training.     
C  Wage cycles for jobs requiring higher education should not occur because of the incentives of speculators to take into account future changes in supply or demand in predicting future prices.

False - labor services cannot be stored and there is no futures market for labor services.  Therefore, there is no incentive for speculators to invest in predicting future wage rates.

D  The fact that the supply of labor may fall with increases in the wage is inconsistent with the law of demand.

False - the supply of labor is the inverse of the demand for leisure.  The law of demand holds constant things other than the price (wage rate) including income.  The actual supply of labor does not hold constant income.  With an increase in the wage rate, the workers have higher income and therefore more “other goods” which leads to an increase in the desired leisure (reduced labor supply.)  This income effect may more than offset the effect of the increased wage in motivating increased work. 

5.  A.  Explain the phrase “statistical discrimination,” give an example, and contrast the effect of statistical discrimination in labor markets on wages as compared to bigotry.

Statistical discrimination - this refers to the case where some personal characteristic of a group of people is correlated with some economic characteristic that is of value (or cost) to buyers or sellers.  For example, the facial tattoo case of 4.B. above.  Example, women paying less for life insurance.  With statistical discrimination, the average wage of the group equals the average value of the marginal product of the group, even though individuals within the group may have VMP higher or lower than the wage.  With bigotry, the average wage is lower than the average VMP.

B-D True, false, explain.

B.  Unemployment can result from shifts in demand even though total demand is unchanged.

True – when demand shifts (for example, from CDs to IPODs) labor and capital must be redeployed from one sector or industry in the economy to another.  In terms of the example, the CD entrepreneur and labor only observes the reduction in the demand for CDs.  Output and input use in the CD industry is cut back, releasing resources.  However, information is costly as to the best alternative use of the resources, and while that information is made known (though prices), the released resources are likely to not be employed – unemployed.
C.  An increase in the minimum wage is expected to lead to reductions in fringe benefits to low wage workers.  

True - assuming some level of benefits is provided at the current minimum wages (e.g., subsidized food at a restaurant, employer provided uniforms, allowing employees to be late occasionally, …), in response to a mandated increase in the wage that will lead to a “surplus” of labor, the employer will seek to reduce other costs of employment including reducing fringe benefits.

D.  A seller may be able to increase its profit by selling apples in three separate pre-bagged sizes rather than offering them loose on a per pound basis.  

True – this is a way to “quantity discriminate” as discussed in 1.A. above.  When the consumer buys by the pound, they continue to add apples to their purchase until the marginal value just equals the cost reducing consumer surplus on all previous purchases.  However, when buying a pre-bagged package, the consumer considers the total value of the package compared to the total value of the package.  Hence, the seller may be able to capture some of the surplus as revenue.
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